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Principles of Agronomy
(D-191)

Time : Three Hours] " [Maximum Marks : 50

Note: This paper is divided into three Sections-A, B and
C. Section-A contains Descriptive Answer
Questions, Section-B contains Short Answer
Questions and Section-C contains Very Short
Answer Questions. Attempt all the sedtions as
per instructions.

AT :  TH AT H e @Sl A, § 71§ F ffea
e = B 1 Eve-o ¥ fega I ue, g
‘F Y ay Sadd 9 o gee-@ § Jfd @y
Il ueq &) ool geel Sl R & #1)
Section—A
gre-H
(Descriptive Answer Questions)
(Frgger ool o)
~ Note : This section coniains six questions, attempt any

three questions. Cach question carries 10 marks.
Answer must be descriptive. 3x 10=30
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1. What is tillage? How does it affect physical

. properties of soil? 10
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2.  What do you mean by crop-rotation? Write its
principles and advantages. 1 l}'
A 9T § oY T T o7 3% e
A o |

3.  Whatis the criteria of essential plant nul:r? ents? Give
the classified list of essential plant nutrients. 10
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4. Define manure and fertilizer. What are the different

methods of fertilizer application? 10
R W IRE H aia g sde wan
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5. Calculate the quantity of Urea, D.A.P., and M.O.P.

to supply 110kg N, 60 Kg P and 40 Kg K in one
hectare field of wheat. 10
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Define crop. Classify them on the basis of season _ .
and botanical aspects. . | 10 9. Giveashortnotcon Bio-fertilizers.
A B IR I | T TF qeicn Teget da-vd@ W T " e i
% AR 9T TR Fiiga P | Section-C
Section-B grs-q
1 qus-q . (Very Short Answer Questions)
(Short Answer Questions) (afer @y EEEE Hﬁ)
(E[g Sl Hﬁ) Note: This section contains five questions, all questions
Nﬂte: 'I'hls Sﬂctiﬂn contains Ikree questions' aﬂempt any are COHIPI.IISOTT. There ES no iniemal ChUiCC. Each
two questions. Each question carries 5 marks. Short ques:ticn carries 2 marks. Very short answer is
answer is required not exceeding 200 words. required not eiceeding 75 words. 2x5=10
2x5=10 A< : 3@ @vs ¥ grg 99 2, @l ue o @
e : 3@ s & 7 ae §, Bt @ @ osa FRm T B AM=RF RAepeq T 8T | 9% 597 2
SRS U 5 3% BB | BT 200 =l T A B
g 3T anfed B 10.  Give the formula of Cropping-Intensity. 2
7. Give one corprotation of each crop rotation intensity HE W 3 el ferfem |
(CR.I} given below. https://www cesustudy.com 5 1. Write the full form CAN (Fertilizer) 2
(i) 100% (i) 133% (i) 166% (iv)200% , EAN (34) & g7 = Rrfe
Frefefed se@ =% gEael § § 9% @ + Caleulate the Intensity of the following cro?
-0 BES T T | ;“‘a“"": Paddy-Wheat. )
() 100% (i) 133% (i) 166% (iv) 200% g PR S S w S
8. Differentiate between mixed cropping and Inter- 13. Ind;
. - Indian Joumal of A . . . '
Cropping. 5 Indian Jo, gronomy is published from... -
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